Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V-EXAMINATION - WINTER 2015

Subject Code: 3351905 Date: 16/12/2015
Subject Name: Estimating, Costing & Contracting
Time: 10:30 AM TO 1:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2H{ll SleUQL Ulctatl welled UL 14
Define tendering and list the types of tendering.

25310l ofl catvaul AW wal Astl YsiRA ol atel 1,
List the disadvantages of contracting.

$2UR oll AR $LAEL wRU.

Explain unit rate method for overhead allocation.

AU Wi e2laat w2 ol yolle 22 I AnenAl
List the causes of depreciation.

YR oll 51200 ol 2uel ;L.

Define forging and list the types of forging.

§1o5101 ofl cautuall AU Wal Asll YsIA ofl ALel 1.
Explain shrinkage allowance for pattern making.

Ueol olollaal Hie ol AslUat e auldl.

Write down the importance of cost analysis.

USAR (AMAYQL of Hecel UHLC.

Define budgetary control.

olge3| vigal ofl cauvall wl.

Explain breakeven point.

Qs gclot W2 (A ymedl.

© QDG NW oL UK DWW AON S

oQ

10. Explain variable cost with example.
0. AAA WA Gelswl AUl UHA.
Q.2 (@  Write down the difference between estimating and costing. 03
Y2 (1) ARREIALL Aol SIRETDL AR oll dAslald AMstAl. 03
OR
(@ Explain Labour contract and Piece rate contrat. 03
) AR slatse wa Yl 32 slatse (A uHostaAl. 03
(b)  Write down the different welding techniques in gas welding. 03
() A Acslat sl ofl el el Il of alat s, 03
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OR
List the elements of cost in arc welding.

UL Acslol HL W il uesl ofl auel 2.

Find selling price of a steel table if the prime cost 3000 tables is Rs.
1,50,000.Factory overheads are 60% of prime cost, administrative overheads
are 40 % of factory cost and selling over heads are 30 % of office cost, and
20 % profit on total cost.

Bld 2uct ofl Al (BHd 0. 3000 2HA ol WBH 512
1,50,000 202l B, %523l A cASS WEH 52 oll 60 % B, dsladl
AlcR &5 ¥5e3l Sl oll 40 % B , Wl AURL VR ds (3 sle

oll 30 % 8. Ul o8l & (BHA oll 20 % O,

OR
A machine was purchased for Rs. 50,000. It was commissioned on 1% Jan
1992. The erection and installation charges are Rs. 5000.This machine was
removed on 31% Dec.2012. And its residual value is Rs. 15000. Find
Depreciation rate.

As HAlot 50,000 32 ol (B Wileal Ui weR &d. Aa 1cll Jan
1992 ofl A% AU sAHL WA BD.8R52U0l Ul BRAAUA W 3
5000 8.4 Hallot 31 SlA. 201261l §R sRAHL A, Aol 2{syuct

(5uct 3002 15000 sRcMl Al & Al LR €2 AU

Two 1 meter long M.S. plate of 1 cm thickness are to be welded by a lap
joint with 6mm electrode. Calculate the cost of welding. Consider current
used = 250 Amp. , voltage = 30 volts, welding speed = 10 m /hr, electrode
used = 0.1 kg/m of welding, labour charges = Rs. 5/hr, power charges = Rs.
10/ KW h, cost of electrode = Rs. 40 / Kg , Efficiency of machine = 60 %

1 HleR doue ol 1 Al 28l A AHAA WA AU H82 a3 6 mm
sAs2S ofl Hee &l Aeslol sclell B, A M Aeslol Wl ofl a3l
5. A W los yate = 250 AxdlaR |, dlo goll = 30 dlee,acslal
»suU = 10 Hle/scls, 8Ases durlel = 0.1 (5.a/HleR acslal
Ho3l €2 = QAL 5/ sclls, waR el = 32 10/ kwh |

B8As2S ol ellal = 3 40/(5.91., 1allat ofl stleatcl = 60% B.

OR
A firm produces 1000 pens per day. The material cost is found to be Rs.
1600, the direct labour cost is Rs. 2000 and factory on cost chargeable is Rs.
2500. If the selling on cost is 40% of the factory cost, what must be the price
of each pen to release the profit of 14.6% of the selling price.

As Ul €A% ol 1000 ot vlatld B. HAIlAA WA 3. 1600
8,515 AGR W3 3.2000 B., 3ol U 531 sl ddl dsesl
ARAUR w2500 &1 Al ARAAUI Wl ¥s23l slke ol 40 % &l
A €35 ot UR Aol AL (HA oll 14.6 % o5l RoclclHL ol
AU (SHA AL
Define (1) Shape weight (2) Net weight (3) Gross weight
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clu=Al ;UL (1) AU Agfe (2) a2 aAgfe (3) N Agfe.

OR
List the various types of forging losses and explain any one.

SI0L AL ol €l W WA oA A As UHLA

Determine the total cost of 400 pulleys of 1000 cm3 volume .Consider (1)
Pattern cost = Rs. 700 (2) Cost of C.I. = Rs. 20/kg (3) Wages of moulder =
Rs. 60/day (4) No. of moulds prepared = 25/day/moulder (5) process scrap =
10 % of Net weight (6) Cost of process scrap = Rs. 4/ kg, (7) Melting
charges = 20 % material cost (8) Overhead charges = 25 % of material cost
(9) Density of C.1. = 7.8 gm /c.c. find the rate of casting per kg.

1000 uet A.Hl. s€ ol 400 Yl ol get W . A W (1) Yeel
5lke = 3. 700, (2) sk2 Aol ofl (B =3. 20/(5.91.,(3) HESR of
Actet= 3. 60/(8c, (4) daR Udl Hes ofl Ava=25/e Hes?,(5)
WA BU = a2 el oll 10%,(6) WAX BU ofl B =
2.4/(3.90.(7) Aot wef= 1Al Wl oll 20 % (8) AR 85
W= Hlilad Wil ol 25% (9) S8 Wlel Yotdl= 7.8 JUH/Uol
A B, A €2 (BAUH €ls 51301 oll W 20K

OR
100 numbers of rings are to be forged from a soft steel rod of 1 cm diameter.
The ring has internal diameter of 8 cm and its outer diameter is 10 cm. If the
scale loss is 6% and shear loss 2mm of the length of rod for each ring , find
the total material cost if the rod is available at Rs. 3 per meter length.

1 AH U oll olrH Wette ol Higll 100 R0 81 s2cl ol ®.
Aot ol vieR oll M 8 AHL WA wdlR ol i 10 AH. B, %l ¥
AU 6 % 8l wal Qar A, eRs ot 1 2 {lLl.Bedl clous o

alal dl et HAllacd wal el AAA 3.3 7 Hler dol® ol eud HA
8.

The total sales of an industry is Rs. 2,50,000.The fixed cost of the industry
60,000 and variable cost is Rs. 1,25,000.Find the breakeven point for the
Industy.

WS Vo5l of A AAUNL 3. 2,50,000 B, Bo53| oll (35S slre

3. 60,000 B A AUAA WA 3. 1,25,000 B. Al Bo5E| HIZ A5 Bclol

sl 20l

OR
Define following terms. (1) Breakeven point (2) Profit — volume ratio (3)
Fixed cost (4) Variable cost.

o{lA oll UEL ofl cautvall . (1) As st W2 (2) (55915 Slke
(3) UAA WL,
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Explain how will you estimate machine time in case of shaping and
planning operation.
Aol A WAoot AU et Hi HAllot uHA 3l A dR veld

530 A AHAl.

OR
Define (1) cutting speed (2) depth of cut (3) over run.

Al A, (1) selot 2dls (2) 3wl Ag 52 (3) AR et

It is required to produce threads of 2mm pitch in a hole of 20 mm dia. and
20 mm depth by tapping. Taking three cuts and cutting speed of 5m/min for
M.S. Estimate the tapping time.

As 20 mm ARl St Hl 20 mm Gste Yl 2 mm Yl ol Bzolet
s 2Ulot Yl utscatett B. 2L s2 2l dul sdlot adls 5 Hlex /Rl

e 2Ulol ol M 2.

OR
A steel rod of 60mm diameter and 120 mm length is to be reduced to 55mm
in one cut by turning. Its length is to be reduced to 100 mm. If cutting speed
is 25 m/min and feed 0.1mm/revolution, find the time required to finish the
job.
As WA oll 60 mm AU oll AU 120 mm Aoll® oll Al 55 mm
Y oll slatlaell ol ® Ua doltes dalsl al 100 mm scllell B.
s3loL @dls 25 m/min, $lS 0.1mm/revolution 8l Al %\t & ($(Aa

sclloll UH2L 2.

Write the procedure of estimating cost of power produced by diesel generating
set.

Sloset oot 8oL A2 ol war Geurt sclloll Y of Wl vietesal ofl
At AN,

State the limitations of break even chart.

As Bclel ALS ofl Hallel spul.

List the types of budgets and explain any one in detail.
wge ol Ystk seucl o A As of (Aot aR adlet 3.

List the modern tools and techniques of cost reduction.

UscR WA datsclell wyolls Aatl AR d5loll v,
Write a short note on E- tendering.
8-253oL (A &5 ol vl
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